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SECOND SEMESTER
XCS 124 - COMPUTER ARCHITECTURE I
COMPUTER TECHNOLOGY
(Also applicable to Regulations 2009)

Time: Three Hours Maximum: 100 marks

ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)
Define Memory Access Time.
The average number of basic steps needed to execute one
machine instruction is S, where each basic step is

completed in one clock cycle. If the clock rate is R cycles
per second, calculate the program execution time.

Give the format for [EEE standard for single-precision
floating-point number,

Give the expressions for generate and propagate functions
for a stage I of a 4-bit carry look-ahead adder.

List the actions involved in executing the instruction.
Move (R1), R2

What are the four steps involved in processing an
instruction using pipelining?

How are the contents of EPROM chips erased?

Give the significance of Memory Management Unit in
Virtual Memory organization.
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How to transfer large blocks of data at high speed?

What does isochronous data stream mean?

(a)

(b}

PART-B (5x16=80 marks)

Explain any four addressing modes.

@

(i)
@

Or

What are the operations performed by
Call and Return instruction? Illustrate
with an example how parameters are
passed while processing.a subroutine.

Write short notes on stack frames.

Illustrate with an example Booth
dlgorithm for binary multiplication.

,’(ii){ With a “peat circuit diagram explain

5

.,

*_binary division.

¢ Or

(b) With a neat circuit diagram explain carry-look
ahead addition.

(a) Explain microprogram sequencing with an
example.

‘®

@

Or

What is a data hazard? Also Explain
about Operand forwarding.
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(a)

(b)
(@)

(b}

(i) Explain how data hazards are handled in
software.

(1)  Give the significance of cache memories.
Also explain mapping functions used in
it.

(ii) Write short notes on LRU replacement
algorithm.

Or
Explain in detail about Optical Disks.

Consider a number of devices capable of
initiating interrupts are connected to the
processor. Explain how to handle it.

Or

E/.,x?hin in detail about Universal Serial Bus.
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